=R 2

168 & RHE
RK163%%
EX )
I AT TERD ™ Wb S, G T2 Rl

L e B EENHE
il =] g
iBahe s
— SHEERTE +20%
== iEAEE 150V AC, 5V DC
2hiEHERE 300%3°
TEFEHISE 3to 25mN-m
BRIEES 15,000cycles
ERREEE —10°C to +70°C
&EH
o
gﬁgﬁfm . F.:I:Iﬂ So _ t:. -
| emen | wxun  weepk | w3pn | REEEE wapn | SEE gpge RITERL D sps | ms
NeshigfeR pes.
S 15 1B RK1631110TBK
iRl 15A 600 RK1631110TT3 1
T4 10
20 RK1631110U1Q
BB
253 ¥ 200 RK1631110TNP 2
itk 20 600 RK1631110TTU 3
3 15
) e 1B 200 RK1631110U0Q 4
Horizontal
type
RK1631210AWN
i 20 5
28
=R ) 10 RK16312101A2
5 15 RK1631210AX9 6
itk 600
20 15A RK16312A0B85
2B B I 5
gyt 25 50 3B RK16312A0BKH
[=]
B 15 10 15A RK16312A0BKR 6
B 23K
e
imF AR BEH (pcs.) HOBRER~T
148/8% 145/ HOa% (mm)
For PC board 600 1,200 326X532X386
Lead 200 400 270%X360X155

1. BR BRIl i H Efth ™= f .
2. IERRIMTI B AIAIN (B8 ERIT 5.

=@ »P.367
A2 P P.367, 368, 456
FnE LR » P.377

365 ALPS



W SMEEE

&R (28

168 & BH#E | RK163%7

Unit:mm
: | BR AR 2 2 3L R~ E
No. i 3 ENR
LT s (W35 PUFF & EIBOER)
iR B L [15]20]
RK163111 TCEE . L1
2, | 7 12 Le 38
rﬂ 38
wn
1 © %.L l 1 °
° A ™ : Mounting
\g « %u@zu@ i - surface
< 3-01.2 holes
R1 2 M7X0.75 . , 1m ol 3 *4}
Shaft shown in full e
C.C.W. position
1R X S
RK163111 —
1.5 .
Sl
2 E I —— (J !
. N7
Q
M7X0.75
2 Shaft shown in full
C.C.W. position
14 A% 105 15
RK163111 5 8
A—W 58 88 T Mounting
surface
: =
3 \ @ -
il el
R1 2 M7X0.75 ! % F
1] ‘ 3-01.2 holes
Shaft slot i
opl?onzra:\sgle. 15
15 % 105 15 .5
RK163111 NS v
o
©
gl —+ [ = __ U _ P e _
4 Q g
Cc1 | l
o \M7X0.75 Y 2‘ 9
Shaft slot is 15
optional angle.
15028
RK163121(Z &) 2. L 15_ ot
RK16312A(ZEH) 712 S 5 3.8
0| §
<
© = [ g § [T}
5 ® | | q &ﬁ R -
8 ®-®® o Mounting
M7X0.75 C1 umuu LAy 5 surface
6-01.2 hol
R2 Rt |2 15 - EE \6-01.2 holes
Shaft shown in full CCW position
144 28% 12.1 15
RK163121(Z & M) i s IS 5 38
RK16312A(:E‘Em) ) Mounting
© surface
2 FE=—F —F
® : E Ty
R2 Ri ot —p - —
L2 M7X0.75
Shaft slot is ' Le—m -2 holes
optional angle. 15

T e i 25

b LEAE TS

EEH
iR

TesiR (R

366



16 & BBV H (2%

IF&':?‘I’%

HEFE U, BETRE T IS

N =R¥E0RE
Herke (5% B alE Ri& ATk ES
g
B e 15 S Bk RK16311 General 21
- General or Volume and 31
14H28Ex RK16312 tone control 41
W SPE{EF3E
HEFEEkQ) 5 10 20 50 100 200
W EEHE
B3 P 4 15A 1B 3B 15C
2EH =
W REEBRT
st 1)5E Unit:mm
—— Die-casting shaft v
i~ = .
- L Not _specified ﬂnBR_r LY
s 2 slotting angle L. Ls 2, < «
_ N 15 5 8 v
_ — —1 ‘31 20 5 12 Shaft shown in
\; 25 7 12 full CCW position
c
; M70.75 \ ! 30 7 12 ORI L,
18 teeth knurl
2)F4 Unit:mm
L @. MR~
Ls 21 L. Le 21
-/ 15 5 7
[ - L cgi % 20 7 12
| 25 7 12
\M o R GW posion 30 7 12
3) 1t Unit:mm
- " IRt
Ls 1.6
L. Le
:7 —~H7— 4%:F: e 1 15 7
20 7
co5 25 7
Shaft shown in 30 7
M7X0.75 full CCW position
o R AN REEFNE.
e3P 3142 D P.368, 456
BT R4 > P.377
367

ALPS



168 & R B EB (i 2§

I X FHEFE-@mIMNITTR
BT S~ RE A A LA~ E, B TORTEE.
W THEAYIE A Y

RK 16 3/1(1 1/0=F|2 0—=CO0—=B 1/0 3— P ks
—_— _— bog LSk
Fails -
iLs RS
11 Ey
121 28k HEERA
12A 2Bk 528
RIEEBRK
ics RIEEBREAR
F SEHh
S 5 D
K = e
- _ 4
BRAEEBRE (L) (mm) 44845 il
LS | BEBRE | 25 | BIEBRE TEIR (R
15 15 25 25
20 20 30 30
5E {31
s TE L s TE i
Co St 31 31
C1 Fhk 4 41
21 21
EB PR HL 12
100 100N
28 | mm\ge | 2s amme| t \
A 15A % 3B g w g 80
= 70 / / g % \
B 1B c 15C X %
e € ol 60
B:ERAREM (Model type:111,121)  %|7 5 3 . \
V:&2H (Model type: 111, 12A) 8|5, / 8§ . \
2|5 2 4 W S5 20 Qogy
é‘ 3 10 £ = §§ 10
o= b o155 N
0 10 20 30 40 50 60 70 80 90 100 100 90 80 70 60 50 40 30 20 10 O
Term."1" Rotation travel (%) —» Term."3" Term."1" Rotation travel (%) —» Term."3"
SFRE
1 FIE'\BHE 1 :E'\Fﬂﬁ
502 5 503 50
103 10 104 100
203 20 204 200
i AN
s i AR
P BR Lk in T
L BEIRT
2N FHEENE.

B/ B2 Hf 368



TR

IF%%EU—L&

B 162 & B4 208 EH 278 & B4k TR Ok IR 3h
IR ZhEH L Single-shaft
RK163111
]:I
e RK163100A RK203 / EC20A RK2711 RK16810JMGO ———
y : bizg ;R
BHE >
HRRRSE BE LA [E] AT A MR 4L [ RE R R 4 [ TE 4 AT F MR 4 [ RE R
¥ orizontal type ertical type orizontal type
B3P ey Hori I Vertical Hori I
Mt B FF =< x
ERTFOEHRERE —40dB to 0dB —60dB to 0dB —40dB to 0dB
2B ESEREER 3dB max. 3dB max. 3dB max.
’ o o B 300C max., 3s max.
E FIEE 350C max., 5s max. 300C max. 3s max. 350°C max., 5s max. LB T350°C max 25 max.
;J;; 2= _— 260£5C, 51t1s _— e B
Bl R EE
EC20A: —30°C to +85C R
S EE T Y o = o Y o
ERIRETERE 10°C to +70C RK203 — 20°C o +85°C 10°C to +70C -
HEsRIRER
EEhE 0.05W
R=10k Q 20Q max. R=10kQ 20Q max.
RIS PEEEEPE | 10kQ <R=50kQ 30Q max. 10kQ <R<50kQ 30Q max.
50k Q < REIEEMBIEA0.1%UT 50k Q < REZ B IR{EHI0.1%
B 5kQ=<R< 10kQ 70dB min. 5kQ<R< 10kQ 70dB min.
T BAEEE 10kQ=<R< 50kQ 80dB min. 10kQ=<R< 50kQ 80dB min.
g =Z82H) 50kQ<R<100kQ 90dB min. 50kQ<R<100kQ 90dB min.
100kQ =R 100dB min. 100kQ =R 100dB min.
o 42 B PR 100MQ min, 500V DC | 100MQ min. 250V DC | 100MQ min. 500V DC O
500V AC 300V AC . 300V AC
i} 8L FE for Tminute for Tminute 500V AC for Tminute for Tminute
# | RRILEEREN - m) 0.9N-m 0.5 0.9 0.9
.ﬁ iR SR E 100N max. 100N max.
HE iR A 10 to 55 to10Hz/4>, 24FIE 1.5mm., X, Y, Z 3758 &2/t
[ E-dd: 1 —20=£2°C for 96h —4013C for 192h —207£3°C for 96h —2012C for 16h
(i}
E [T b d: 1 70=£2°C for 96h 85:3C for 192h 70=£2°C for 96h 7072°C for 96h
e —_— 40%2°C, 90 to 95% 6013, 90 to 95% 40%2°C, 90 to 95% 40%2°C, 90 to 95%
H RH for 96h RH for 240h RH for 96h RH for 96h
Ui 365 369 371 375

Bl E 344



nit:mm

T

s

JIRNNYZ

NARE

VG

ALPS

LS

HRIENER

&R =&

I P T AR 4
RIMEIE =& LHERE,

II EREMEB A2
Rsen s
At
T

AL,

EEH

B

377



	产品概要
	外形图
	产品种类
	订货时的记入举例
	产品规格
	附属零部件



